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CHS 1440-0001 
Exam 1 version A 
 
Fall Semester, Sep. 2021 
A UCF ID is required. 
 
On your pink TEST FORM, write your correct Name and the Date.  
 

Shade in the following: correct PID; test version (form).  Your grade cannot 
be posted in webcourses if your PID or test form, or both, are incorrect or 
missing! 
 

Use of a nonprogrammable (nongraphing) calculator is permitted, e.g., TI-30X 
series! No graphing calculators, nor cell phones. All other electronic devices 
should be properly stored away. 
 
Read the questions and the answers carefully.   Write/work on the test! 
 
Choose the correct answer to each question. There are total 20 questions with 5 
choices, a-e!! 
 
A periodic table is attached. 
 
The useful constants and relationships are attached. 
 
The solubility guideline table is attached. 
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1. Which of the following represent(s) a chemical change? 
 

1. melting of ice. 
2. rusting of an iron bridge. 
3. burning of a wooden stick. 
4. dissolving of sugar in water. 
5. electrolysis of water. 

 
a) 1 and 3              b) 1, 3 and 4              c) 2 and 4              d) 1 to 4              e) 2, 3 and 5 

 
 
2. The name of the compound is copper (I) oxide. This implies that  
 

a) the ratio of copper to oxygen is 1. 
b) copper is a nonmetal. 
c) the empirical formula is Cu2O. 
d) the charge on the copper is 1-. 
e) there is one copper atom in the compound. 

 
 
3. What is the net ionic equation for the reaction between aqueous sodium hydroxide and 

aqueous nitric acid? 
 

a) HNO3(aq)  +  NaOH(aq)  →  H2O(l)  +  NaNO3(aq) 
b) Na+(aq)  + OH-(aq) + H+(aq)  + NO3

-(aq)  → H2O(l) + Na+(aq) + NO3
-(aq)  

c) HNO3(aq)  +  OH-(aq)  →  H2O(l)  +  NO3
-(aq) 

d) H+(aq)  +  OH-(aq)  →  H2O(l) 
e) Na+(aq)  +  NO3

-(aq)  →  NaNO3(aq) 
 
 
4. Give the name of the following compound: N2O 
 

a) nitrogen oxide                       b) dinitrogen monoxide                c) nitrogen monoxide 
d) dinitrogen oxide                    e) dinitrogen monoxygen 

 
 
5. Which of the following properties of metal is (are) chemical properties? 
 
 I.  It dissolves in acid   II.  It rusts in air    III.  Its density is 5.5 g/cm3   IV. It melts at 420 °C 

 
a) I and II              b) II and IV              c) II only              d) III and IV            e) all of I to IV 
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6. Determine the initial volume needed to generate 4.50 L of 1.60 M HNO3 from 2.40 M HNO3 
by dilution. 

  
 a) 4.50 L                  b) 3.00 L               c) 2.40 M                 d) 1.60 L              e) 6.75 mL 
 
 
7. A liquid boils at −452.2 °F. What is this temperature in Kelvin? 
 

a) -195.8 K             b) -47.2 K             c) 4.2 K             d) 77.4 K             e) 160.2 K 
 
 
8. How many protons, neutrons, and electrons are in the 41Ca atom? 

 
a) 41 protons, 0 neutrons, 41 electrons b) 20 protons, 21 neutrons, 20 electrons 
c) 21 protons, 20 neutrons, 21 electrons d) 20 protons, 21 neutrons, 21 electrons 
e) 21 protons, 20 neutrons, 20 electrons  

 
 
9. Determine the simplest formula of the compound which has the composition 74.0 % C, 8.65 

% H, and 17.4 % N by mass. 
 

a) CHN 
b) C3H5N2 
c) C4H5N2 
d) C5H7N 
e) C6H7N 

 
 
10. Which of the following is an example of an alcohol? 

                                                                          
a) CH3CHO         b) CH3OCH3        c) CH3COOH        d) CH3NH2        e) C2H5OH 

 
 
11. Write a balanced chemical equation describing the reaction between butane (C4H10) and 

oxygen (O2) to form carbon monoxide and water? 
 

a) C4H10 (l) + O2 (g) → CO (g) + H2O (l) 
b) 2 C4H10 (l) + 9 O2 (g) → 8 CO (g) + 10 H2O (l) 
c) 2 C4H10 (l) + 13 O2 (g) → 8 CO2 (g) + 10 H2O (l) 
d) C4H10 (l) + 4.5 O2 (g) → 4 CO (g) + 5 H2O (l) 
e) C4H10 (l) + 6.5 O2 (g) → 4 CO2 (g) + 5 H2O (l) 
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12. An element has three naturally occurring isotopes with the following masses and natural 
abundances: 

  Isotope  Mass (amu)  Abundances (%) 
  1  53.94           5.845 

2  53.93           91.75 
  3  56.94           2.405 
 

What is the identity of the element above? 
 

a) Fe                        b) Co                         c) Ni                        d) Cr                        e) Zn 
 
 
 
 
13. Which of the following can be classified as a precipitation reaction?  
      

a) 2 Na(s)  +  2 H2O(l)  →  2 NaOH(aq)  +  H2(g) 
b) ZnCO3(s)  +  2 HNO3(aq)  →  Zn(NO3)2(aq)  +  H2O(l)  +  CO2(g) 
c) Pb(NO3)2(aq)  +  2 KI(aq)  →  PbI2(s)  +  2 KNO3(aq) 
d) HBr(aq)  +  NaOH(aq)  →  H2O(l)  +  NaBr(aq) 
e) SO3(g)  +  H2O(l)  →  H2SO4(aq)  

 
 
14. Determine the number of electrons in the Au3+ ion? 
 

a) 76                  b) 79                  c) 82                  d) 3                  e) 0 
 
 
15. How many oxygen atoms are present in 8.70 g of CuSO4∙5H2O?          

 
a) 3.48 × 10-2        b) 1.20 × 1023        c) 2.10 × 1022        d) 1.89 × 1023        e) 9  

 
 
 
 
16. What is the molecular formula of the following compound? 
  

 
 

a)  C10H14S        b)  C9H11S        c)  C8H10S        d)  C6H6S        e)  C9H12S  
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17. Alkali metal cations carry a charge of what? 
  
 a) 2+                   b) 1+                  c) 0                     d) 1-                 e) 2- 
   
 
18. The correct formula for iron(II) phosphate is: 
 

a) FePO4                b) Fe2PO4              c) Fe(PO4)2                 d) Fe3(PO4)2             e) Fe2(PO4)3 
 
 
 
19. Given that: CuBr2(aq) + Li2CrO4(aq) → CuCrO4(s) + 2 LiBr(aq), which of the following 

species are classified as a spectator ion? 
 

1. Cu2+(aq)          2. Br-(aq)          3. Li+(aq)          4. CrO4
2-(aq)          5. CuCrO4(s) 

 
a) 1 and 2              b) 2 and 3              c) 3 and 4              d) 1 and 4              e) 5 

 
 
 
 
 
20. Which of the following hydrocarbons are isomers? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

a) 1, 2 and 3              b) 1 and 4        c) 1, 3 and 5   d) 2, 3 and 4 e) 3, 4 and 5 
 

End…… 
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